Honors Physics Unit 3 
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 #:


Speeder & Patrolman Problem

For the following problem, a complete solution will consist of

i) at least three diagrams and/or graphs to represent the situation. (Use the diagrams and graphs the you find most useful.)

ii) if no specific questions are asked, a determination of what quantities it is possible to solve for.

iii) a solution to the problem getting the same answers using at least two different methods.

iv) a clear presentation of the procedure used to produce a numerical answer, with units

1. A speeder driving down the road at a constant 20 m/s, passes a patrolman parked on the roadside. The patrolman waits 3 seconds, then pursues the speeder, accelerating at a constant 4.0 m/s2.
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